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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i)

(iii)

(iv)

()

(vi)

(vit)

This question paper contains 33 questions. All questions are compulsory.

Question paper is divided into FIVE sections — Section A, B, C, D
and E.

Section A — question number 1 to 16 are multiple choice type questions.

FEach question carries 1 mark.

Section B — question number 17 to 21 are very short answer type

questions. Each question carries 2 marks.

Section C — question number 22 to 28 are short answer type questions.

Each question carries 3 marks.

Section D — question number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal

choice in one of the subparts.

Section E — question number 31 to 33 are long answer type questions.

Each question carries § marks.

(viii) There is no overall choice. However, an internal choice has been provided

(ix)

(x)

57/4/2/21

in section B, C and D of question paper. A candidate has to write answer

for only one of the alternatives in such questions.

Kindly note that there is a separate question paper for Visually Impaired

candidates.

Wherever necessary, neat and properly labelled diagrams should be

drawn.

3 P.T.O.
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(D) P—3geEd, Q— m3TRUAT, R — &m@O
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SECTION - A 16 x1=16

Question Nos. 1 to 16 are Multiple Choice type Questions, carrying 1 mark
each.

1. In a fertilized ovule of an angiosperm, the cells in which n, 2n and 3n
conditions respectively occur are : 1

(A) antipodal, zygote and endosperm
(B) zygote, nucellus and endosperm
(C) endosperm, nucellus and zygote

(D) antipodals, synergids and integuments

2.  Turner’s syndrome in humans occurs due to 1
(A) Aneuploidy (B) Euploidy
(C) Polyploidy (D) Autosomal abnormality

3.  Which of the options has correct identification of ‘P, ‘Q° and ‘R’ in the
illustration of ‘Central Dogma’ given below ? 1

(A) P —Replication, Q —rRNA, R - Transcription
(B) P —Translation, Q- mRNA, R - Transcription
(C) P —Replication, Q —mRNA, R - Translation
(D) P —Transcription, Q — mRNA, R - Translation

57/4/2/21 5 P.T.O.
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(B) SASI-A, AREcT-B, HRSHYI-G
(C) SAS-A, AecT-E, HRHYPI-G

(D) 3ASI-B, AEa-D, BRHI-G
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4.  Study the following diagram of Transverse Section of a young anther of an

angilosperm : 1

Select the option where parts ‘A’, ‘B’ and ‘C’ are correctly identified.
(A) A - Connective, B — Endothecium, C — Pollen grain.

(B) A — Endothecium, B — Connective, C — Pollen grain.

(C) A —Pollen grain, B - Connective, C — Endothecium.

(D) A — Endothecium, B - Pollen grain, C — Connective.

5. Select the option that gives the correct identification of ovum, morula and
blastocyst in a human female reproduction system as shown in the following

diagram : 1

(A) Ovum — B, Morula — D, Blastocyst — F
(B) Ovum — A, Morula — B, Blastocyst — G
(C) Ovum — A, Morula — E, Blastocyst — G
(D) Ovum — B, Morula — D, Blastocyst — G

57/4/2/21 7 P.T.O.
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6.

10.

11.

Study the table given below : 1
Contraceptive / Mode of Action

Contraceptive Method

A. The pill I.  Prevent sperm reaching cervix

B. Condom II. Prevent implantation

C. Vasectomy ITII. Inhibits ovulation

D. Copper-T IV. Semen contains no sperm

Select the option where contraceptive/contraceptive method are correctly
matched with their mode of action.

(A) A-III,B-II,C-1, D-1IV (B) A-1II, B-III,C-1, D-1V

(¢ A-1III,B-1, C-1V,D-1I (D) A-1V,B-III,C-II,D-1

Identify the category of genetic disorder depicted in the pedigree chart given

below : 1
(A) X-Linked recessive (B) X-Linked dominant

(C) Autosomal recessive (D) Autosomal dominant

ELISA technique is based on the principle of 1

(A) DNA replication

(B) antigen-antibody interaction
(C) pathogen — antigen interaction
(D) antigen — protein interaction

Homologous organs indicate 1
(A) Convergent evolution

(B) Divergent evolution

(C) Adaptive radiation

(D) Natural selection

The ‘molecular scissors’ fall in the category of : 1
(A) Cleaving enzyme (B) Endonuclease
(C) Exonuclease (D) Restriction enzymes

Which of the chromosome in a human possesses the least number of genes ? 1
(A) 21st chromosome (B) 16th chromosome
(C) X-chromosome (D) Y-chromosome

57/4/2/21 9 P.T.O.
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HROT (R) : Thed (W) Tereft amfersehr o 3171 safaa R afoTfreh SU=ivT i & TeheT 2 |
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HRUT (R) : 58 T STSiamur Tel i @ie Hid g 3SR STshT 1 TR hid 8 |

16. 3RReA (A) : $© et uriifefis = 8 e 0 o1 fifie 3ot gran g | 1
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12.

13.

14.

15.

16.

Given below is a list of some commercially important products in column A,
whereas in column B are names of source organisms :

Column - A Column - B
Bioactive Products Source Organisms
A. Cyclosporin — A (1) Streptococcus
B. Statins (11) Trichoderma polysporum
C. Streptokinase (111) Penicillium notatum
D. Penicillin (1v) Monascus purpureus

Select the option where the product and their source organisms are correctly
matched.

A) A-(), B-@), C-(@u), D-(@Gv)

B) A-(@Gi), B-@G), C-@Gv), D-(@)

(C) A-(@Gv), B-@i), C-@Gv), D-(Q)

D) A-@@), B-@Gv), C-@), D-(ai) 1

Question Nos. 13 to 16 consist of two statements — Assertion (A) and
Reason (R). Answer these questions selecting the appropriate option given
below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A)is true, but (R) is false.

(D) (A) 1s false, but (R) is true.

Assertion (A) : Plasmids are autonomously replicating circular extra-
chromosomal DNA. 1
Reason (R) :Plasmids are usually present in Eukaryotic cells.

Assertion (A) : Patents are granted by government to an inventor. 1
Reason (R) :Patents prevents others from commercial use of an invention.

Assertion (A) : A given fig species can be pollinated only by its partner’
wasp. 1

Reason (R) : The wasp pollinates the fig inflorescence while searching for
suitable egg laying sites.

Assertion (A) : Some aquatic ecosystems have inverted biomass pyramids. 1
Reason (R) : More energy is required by the organisms occupying higher
trophic levels.

57/4/2/21 11 P.T.O.



ElEE
:d&
=
Qg -9

17. UHRE ® Him die= w2 ¢ foe afdeufa § fordh safda =1 sueh fore fafercefiar ot
femsman? 2

18. TEIU <l St aTet Tt bl ST Iehd: ffia i3t o1 feeH IR-a) F=il T Tedr ? 7
39k TTT AT Tk TTE ST o1 GiTal G11T | 2

19. = feu U orw 1 e K fed B X qen B Y it A1 h sty § aaiee
Tirfar <A A § 81 ot aftadqt <1 faeaw feran e 2

& X’ qen Bt Y’ % ged T e o STd T 8 7 T i i | 2

20. (a) va-fafaear gle-wie & yeaht & woeiad & 2% & i A 8, 3 &1 <l fo9iy gram &
g foreTioe <ht <t o1 <A Toha 1T Hehdr @ | Same Hifv |

(b) 9RA H Fepgl G Ble-Tdie < AW fTRaT | 2
21. (a) RO G W TN TG Gl 2@ § L LiUd i | 2
A0
(b) T AT ICTET h! HERIAT | 378 TS (8 WEfEsH) i = SHifT | 2

Qus - T

22. Y % U % Hey H gl TqA shid () FohU T, Ueh shid deed-Joi=-H9 HeT & g
o AT GO h1 qqed-SSHA-8 Geh7g74 o Uldl o = Ul T | 3961 F, fiel <l
Hafd o ALTUITET fARIT | Fford RO <d §U T IR 1 gfse FHifT | 3

23. Teh ATASIS o T JHBIGIG/ TSI b FREF HIC 1 (o7 ST TAUT 8 Fohral TR
9T} SRt ATHIfeRd hIFT | seeh fohel & i o s feafaw | 3

57/4/2/21 12



S

17.
18.

19.

20.

21.

22.

23.

SECTION - B
What is artificial insemination in ART ? Under what conditions is the person
medically advised to go for it ? 2

Why does a patient of ADA — deficiency require repeated infusions of
genetically engineered lymphocytes ? Suggest a possible permanent remedy. 2

Study the graph given below that represents the changes in the thickening of
the uterine wall in women X’ and women ‘Y’ over a period of one month :

What does the graph with respect to woman X’ and woman Y’ indicate ? Give
suitable reason. 2

(a) Biodiversity hotspots cover less than 2% of Earth’s land area. Strict
protection of these areas can reduce the rate of ongoing extinctions.

Explain.
(b) Name any two hotspots in India. 2
(a) Differentiate between grazing food chain and detritus food chain. 2
OR
(b) Explain Brood parasitism with the help of a suitable example. 2
SECTION - C

With reference to flower colour two independent crosses were made, one
between true breeding garden pea plants and another between true breeding
Antirrhinum plants. Write the phenotypes of their F,-progeny. Justify your

answer giving reason. 3

Draw a well labelled diagram of sectional view of male
gametophyte/microspore of an angiosperm and write the functions of any two
parts labelled. (Any four labels). 3

57/4/2/21 13 P.T.O.
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24.

25.

26.

(a) () T 39 Tqg w1 AW fTRae feeht smfoaes gt = g T 2 -

(i) 39 9 o1 Yo fohH Tehr fopa ST @ 2
(iii) 9271 o e | T 0L o1 S HT I THIGd S g ? 3x1=3
Frera
(b) fcreft 379] <t =T 1 ARG ot STt femeel = Wi b1 ArmifeRa SHIRTT | 3ehT
A Fehid I IecT@ SHINTT | ITRT FHHTUT hi STl IR o A1 g | 3

fretfetiiga o el St <l fireht 1 Seoie HfT :

(a) Sfees Icarg o Frrmfor &

(b) TN & A=A Y

(c) Tmrf grar e § 3

IR AT &0 § g1 EITAT Gel i T §U SR TS |

(a) s ‘A’ qUEs ‘B’ & 9™ fafu | 1
(b) $HIITRI (EcoRI) g Tg=H 7Y “Ufegm” =i fafaw | 1
(c) SHRISTRI AfTgIm 1 Tohet TS TR HTedT 7 | $8eh SWIT GANT ST & 3o &g g

Tt ITEe13T 1 9UH HIfT | 1

57/4/2/21 14
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24. (a)

(b)

(1 Name the group of drugs whose skeletal molecule is shown below :

(1) How are such drugs consumed ?

(111) Name the human body organ affected by the consumption of these
drugs. 3x1=3

OR

Draw a schematic diagram of an antibody molecule and label
any 4 parts. Mention their chemical nature. Name the cells which
produce them. 3

25. Explain the role of transgenic animals in :

(a)
(b)
(c)

26.

Production of Biological products
Studying diseases
Chemical safety testing 3

The schematic representation as above is showing the linking of two DNA

fragments.
(a) Name ‘A’ and ‘B’ fragments. 1
(b) Write the ‘palindrom’ recognised by EcoRI. 1
(c) Where does EcoRI cut the palindrome ? Write the events followed
thereafter to form a recombinant DNA. 1
57/4/2/21 15 P.T.O.
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27. How do the following organisms act as bio-fertilisers ? Explain.

(a)
(b)
(c)

28. (a)

(b)

Question

Mycorrhiza
Anabaena

Rhizobium 3

Whose skulls ‘A’, ‘B’, and ‘C’ are shown below ? Which of the two are

more similar to each other ? 2

Name the (1) ape like (i1)) man like primates that existed 1.5 million

years ago. 1

SECTION - D (Case Based Questions)

No. 29 and 30 are case based questions. Each question has 3 sub-

questions with internal choice in one sub-question.

29. Generally, in eukaryotic cells the average length of a transcription unit along
a DNA molecule is about 8,000 nucleotides, so the RNA product of the

transcription is also that long. But it only takes about 1200 nucleotides from

the above RNA product to translate average sized polypeptide of 400 Amino

acids.

(a)

(b)

57/4/2/21

Name this RNA product transcribed from the DNA that subsequently
translates into a polypeptide of 400 amino acids. Mention the enzyme

responsible for transcribing this type of RNA from the DNA. 1

Name and explain the process the RNA molecule transcribed from 8000
nucleotide long DNA undergoes to be able to translate a polypeptide of

400 amino acids. 2

17 P.T.O.
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(c) Write the number of RNA polymerases involved in the transcription of
DNA in a prokaryote and eukaryotes. 1

OR

(c) Mention the difference in the site of transcription in a prokaryote and
eukaryote cell. 1

30. Read the following passage :

Populations evolve to maximise their reproductive fitness in the habitat in
which they live. Ecologists suggest, the life history of organisms have evolved
in relations to the constraints imposed by the biotic and abiotic components
of the habitat in which they live. This gets reflected in the population growth
pattern of all organisms including humans.

Study the population growth curves shown in the given graph and answer
the questions that follow :

(a) Identify the growth curves ‘A’ and ‘B’. 1
(b) Mention what does the dotted line in the graph indicate and state its
importance also. 1
OR
(b) Growth curve ‘B’ shows a different pattern from that of growth curve ‘A’.
Justify giving one reason. 1

(¢) (1) Which one of the two curves is more “realistic” and why ?

(1) Which one of the two curves is relevant in present days with
respect to human population in our country and why ? 1+1

57/4/2/21 19 P.T.O.
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(1) Fegamd /e
(2) YhIT HTEwAT
(3) @Te TR 3
(i) AT =3k <l TET FHS (TR TNER e % foTu st dgmes 2l Hehd
B | I Y 59 A W HEAd & 7 31U I o U § Ty wrwr fafge | 2
Freran
(b) () SreEEiE # Yo % foewE U ugel Yo 1 febrd w6l g ® 7 uie
T e SIS H YT <h1 iRl %1 9 ST | 2
(i) T fesforst & yor % faepra 3 ol <ot 6 yor & gofa: aftes B9 a6 6
SHIEATIAT T FTHI(hd Forst S4TST | 3

32. (a) TISEE % AHE IR § wferse B9 o T T oot IHeh JUIEUYT UgH | §6d ST o o
e gk T U9 sHIFTT | 5

YA
(b) () uHa§HAtEn W fiyereon fafae aun e Hifse 5 a7 sl feas
PR ST B & ? 2%
(i) TS Wit o Sfiam sk Y oifiteh STawenati o YRY 8 & 39k U1 g4
o TN} kT IUH shIFU ST ek o8 T4 Ish TRH i o (T AR BT 2 | 2%

33. (a) i feu U FoHTHS I HT A Hh 3 few 7w 33411 & I fafgu -

57/4/2/21 20



S

31. (a)
(b)
32. (a)
(b)
33. (a)
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(i)

SECTION - E

Explain the following phases in the menstrual cycle of a human

female :

(1) Menstruation

(2) Follicular phase

(3) Luteal phase 3

‘A proper understanding of the menstrual cycle can help

immensely in family planning.” Do you agree with the statement ?

Provide reasons for your answer. 2
OR

Why does endosperm development precede embryo development in

angiosperm seeds ? State the role of endosperm in mature

albuminous seeds. 2
Draw a labelled diagram showing the different embryonic stages of
a dicot plant, upto a fully mature embryo. 3

Describe the life cycle of HIV from the time of its entry into the human

body till full blown AIDS sets in. 5
OR
(1) Write the symptoms of malaria in human and explain what causes
these symptoms. 2%
(1) Describe the different steps in the sexual mode of reproduction in

the life cycle of a malarial parasite from the time of its initiation
till where it is completed and ready to start a fresh cycle. 2%

Study the schematic diagram given below and answer the questions
that follow :

21 P.T.O.
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() TIT M MmITRGT G H X’ & ‘X’ HT YIurdT il Tg=T | Seoig shifore foh
FYAWT o GRH TIAIRISE FE@dl § 3R fohad ST 37 ST ST dehd & 31K

w7 | 1%
(i) T U EIHEO) % U IRWH Whe, T Tfduhe (TERhISH) T 36
7T 377t o A forfae freen! 718 Shig TR | 1%
(iii) 3TTRAD U] & AR Hl AR HITT | I 3] Sl FERE B Hi
JATIYIHAT R Bl 8 7 2
A
(b) () T TEd foR T HifsehT e (Fehet et THIfER) it a8 I = fean m=n
g7 1
(i) 39 o <t rfieafa & STHafe SmaR 6 S FHif | 2
(iii) T THIT SR THSTEY foh AT Sl (ITeT) ¥ T hITehl 3awmal (Rehet
et THAET) aret s (@afd) fora TR UeT 81 gt § | 2
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() Identify the polarity from ‘X’ to ‘X’ in the mRNA segment shown.

Mention how many more amino acids can be added to the
polypeptide that is being translated and why. 1%

(i1) Write the initiating codon for translation, its anticodon and the
amino acid it codes for. 1%

(i11) Explain the charging of an adaptor molecule. Why this molecule
needs to be charged ? 2

OR
(b) (1) Why is sickle-cell anaemia, a human blood disorder so named ? 1

(1)) Explain the genetic basis that results in the expression of this
disorder. 2

(111) Work out a cross to explain how normal parents may have a sickle-
cell anaemic child. 2

57/4/2/21 23
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